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Test-1: General Awareness
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Inthepeesent contextof socio-cconomic develepment, the
concep! of “mecting the needs of the present witbout
ocompramising the ability of figurc geocrations to meet their
necds™ is populatly known as the concept of

stainable Development 2) Unifoem Growth
3) Tugaa<liiven Gronvth  4) No risk-Nogrowth
5) Social Viubility

2 Which ofthe followiny statemenis about the agricultural

sectos in the cconomy of India is‘are correct?

v AA) Agricuhural growth has reduced poveity of tbe

people tocallyand, through its externat cffects, also
in many othes parts of the county.

Food and outrition security in the country bas
incseagsed substantially.

{C) The area of culrivation has increascd in recem past
as agricuhure bas become a full-time employment
for the people, which was notso 3 few years bock.

1)OniyA 2)Only B 3)OntyC
oth A & 8 only S)AIA,B&C

recent years it has been recognized increasingly that

a large segmeat of the fuzal population Is omt of the

reach of the formal banking services. Which of the

following is the name of the concept floated to bring
most of these noal persons in the net of financial and
banking services?

1) Corparate Governance 2 inanitl! inclusion

3) Wealth Creation 4) Credit Management

$) Risk Management

Aswet allknow, the preseot pattemof agricultural growth

has resulted in a varicty of enviroomental degradation

of soil, water, air and bio-di versity. Which of the following
isfare the main practice(s) of the preseni pattemn of
agriculture. which has given birth to such degradation?
Excess usc of cbemicat inpuls in the form of
fertilizers, pesticidesfinsecticides and boosters
bandonment of traditional practices built over
several milleania

@ Continuous ftogging of land through multiptc
cropping

1) Only A 2)Only B

4) Both A & Conly IA.B&C

AS we all know, the per capita fd8a availability is far

better in |he country these days and it has also reduced

ottr dependeace on imports of most of the food cosn-

3)OnlyC

8

modities. Which of the following are tho agricuture-
related things for whicb we are still dependent on imports
targely?

(A) Wheat Sugar —46) Edibleoils -0} Pulscs
1) Only A & B both 2)Only C & D both
3)OnlyA,C&D A0nlyB.C&D

SYAHA.B.C&D
As we all know, migration of peoplc from one place 1a
the ather has always been 3 topic of Interesi to
economisis and social sclentisis Wbichofthe following
migrations is called a historical one and is often refeired
as ~“Motlicr of All Migrasioas in the World™?
tercontinental migyation from Eurape to Ametica
and beyond
2) Migration of agricu lturul fabour from Bihar and UP o
vasious states in India
3) Migiation of Keealiles 10 Gulfcountrias
4) Mig:ation of Gujaratis to USA and UK after the
outbreal of plaguc, comemwnal riots, and several major
eanhquakes in the state
5) Nooe of these
As per the recznt research repotts published in papers/
journals, more than hal€afall child deaths arc associated
with malnutrition. Which of the following is’are the major
reasons of malnutrition in India?
Low birth weight because of poor nutritional status
of the mother
_®) lligh levels of disease caused by poor hygienic
condirions and polluted water
X5 mproper feeding practices
1)Only A 2)Only B
AlIA,B&C  5) Nonc of these
The agro processing sector in India hasshowna positive
gowth in recent past. What isfare the major factors which
hashave cootributed 1o this growth in this seetor?
» There is a change in consumption pattem. Food
budget is allocated to high-value commodities like
raw fiuits, vegetables, livestock, cte.
B3> Growth in export demands for high-value and
processod food items. Henoe more people aretaking
p tbat business.
More and more people are migrating to cities and
wrban areas wherc demand for processed food is

3)OnlyC

high.
) OniyA 2)Only B 3)OnlyC
AARAB&EC  5)None of these
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The phenomenon of the decline, howsoever initiated or
instigated. occurting D some measurcs of aggregate
economic activity and causing cascading declines in GDP
and other key measures of economic activity in the terms

of econoinics, iscalled

I)terminal growth recession

3) business cycle /?)dcﬂa!ion

$)domlnoeltect

As we all know. the the Govt of Indis has given much

attention to improve public health in the county. Why

is so much eitentioo given to impsove the same, which
in the opinion of the gencral public, {s a persons) goal
and should be an individual effost?

{A) Poor public health condltions take economic toll in
various wnys.

ovt wishes to invest in it because it wants to
prevent diseases rather than treat them,

() If the general health of the people in a counuy is
weak, investoes do not wish to invest in that country.
Even tourists do not want %o visit thc land.

1)Only A lyB 3)OnlyC

4)AILA,B& C ~S5) None of these

The Gowt of India 3 giving much bmponance to the

development of “Special Econamic Zones™ these days.

Which of the following statements is/ate TRUE about

the features of the Special Economlc Zones?

Special Economic Zounes refer 10 areas withio a
country where some of the economic {aws and
restrictions of the land ase relaxed.

(8) Special Economic Zoncs are being de velopedtogive
an oppostunity to the weaker sections of society,
who did not have enough oppornunitics to develop
(inancizlly and economically.

(O In India, the devclopment of Special Economic
Zones started way back in 1980 when the fisst such
project was launched in Kamataka.

ly A 2)OnlyB 3)OmlyC
4)AHA,BRC 5)Noneofthese

India has several major dams almost in all states. Which

of the lollowing was/were the reasons for which these

dams were built?
Flood contro] and water supply
(B) Rclocating the population
JB Power generation
[rrigation facilities

1)OnlyA&B 2)OnlyC&D _2)OnlyA,C&D

4)OnlyB,C& D $5) None of these

Which of the following is nota majos concept Grequently

refericd in the cconomic litcrarvre of Dr Amastya Sen,

the Nobel Prize-winning economist?

Positiveficedom  HCopOmBtecthics

3)Capability to funclion  4) Negative frecdom

$) Wellare economles

14.

15

_#)NABARD

16.

17.

Which of the following staternents is/are correct about
thePradhan Mantri Gram Sadsk Yojana?
£ The Yojana was launched in the ycar 1953 with the
aim to connect cach and cvery village with the
National Highway.
oe. The Yojana was 10 be completed by the year 2000.
But onty 60% job has been done so far.
The funds for the Yojana were amranged by a loan
fram the Asian Development Bank. which sanctloned
anamount of Rs 1.20,000 lakh croce that time. India
has availed 95% of that amouat but the job done is
only 60%a.
1)Only A 2)OnlyB
4)AllA, Band C one of these
Which emongst the following organzations inake major
credit policies for the Regional Rural Banks (RRBs)?
2) Asian Devciopment Bank
4) State Bank of India

3)OnlyC

3) World Bank
3) None of these
As we all know, the Gowvt of India has launched many
schemes forthe welfare of the workers from uncrganiazed
sectoss. AS per recent estimates, about what p2r zent of
all workforce in India is eagaged in informal or
unosginised sector?

1)50% % 3)M%  4)80%  5)60%
Which of the following is/are true about the Indira Awss
Yo}anaofthe Gowi of India?

B-The scheme was the sub-scheme of the Jawsh~
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Rozgar Yojana (JRY),
_8he scheme was launched to provide housing
accommodation to airal people Below Poventy Line
PL)only.
Under the scheme, the allotment of the house is done
in the name of the fesnale meinbers ofthe household
in the joint namcs of the husband and wife.
1) OnlyA 2)OnlyB 3)OnlyC
ATAILA, B and C 5) None of these

As we all know, the Gowt gives enough emphasis on the

development of Small Scale lndsury (SS!) Sector, What

is the10ke o fthe SSI sectorin a developing cconomy like

{ndia?

A. SSI sectorplays an important role in development of
economy as around 40 per cerk of the GLP comes
from this sector.

B. SS1 absords surplus labour ard helps in equitable
distribution of income,

_=Appfoximaicly 35% of total expoits of Indla comes

fron SSISector.
1)Only A 2)OolyB
4)AllA.BandC $) None of these

C

. Which of the following is not true about the National

Rural Employmert Guarantee Act (NREGA) ?
A.NREG A was ¢nncted fitst 1o provide job to rural
m 1 1



people only but now pecople in wrban arcas can
also avail the jobs under it
‘,/B.)IREGA is applicable in all districts of the country

C NREGA initially p rovided 100days' job bt new the
number of days has been increased to 150.
1) Only A _20nly B
3)OnlyC 4)AllA, BandC
5) Nonc of thesc
20. Which of the [ollowing is not true about National Food
Foe Work Progremme (NFFW P) of the GovtofIndia?
é,NFFWP was launched to provide additional
resources to the most hackward 150 disticts of India.
B. The bencficiaty of the NFFWP is required to wotk
foe 5 days a week for at least 10 weeks at a stretch.
C. The bencficiaries of NFFW P are paid their wages tn
the form of wheat and rice foc their work. The payment
of ration is done to thern daily a1 6.30 pm or imenediately
after the day’s work is over, which should be latest

by 9.30 pm.
>4 OnlyA 2)Only B 3)BothBandC
4)OnlyC $)BothAand B

21. Which ofthe following schemes is/are now the pari of
the National Rura! Eraployment Guarantee Act
(NREGAR?

A. Pradhan Mantri Gram Sadak Yojana

JNational Food For Work Programme
poorna Gramcen Ro2gor Yojana

1) OnlyA 2)OulyB <3»BothBandC

4)AllA,BandC $) Noaeol these

2. Micro credit or micro finunce is a novel approach lo
banking with the poor. In this approach hank credst is
extended to the poor through

) Sel fHelp Groups

3) Coopernlive Cred it Societics

4) Reserve Bank of India

5) Small Industries Developmest Bank

23. Which of the following is/are the major problen(s) of

il s s =

“The Indian farmer borrows year néter year but is not
in o position to cicar off his loaas.

{B) Thesiac of the loans taken by the Indian farmer is
too laige whereas his agricuttural owtputisnot large
enough to pay off’ his debt.

Q,Most of the farmers arc still nking loans from the
informal sources, who chatge a very high rate of

2) Anganwadis

Intezest
1)Only A 2)Only B 3)OnlyC
4)OnlyA& B AllA B&C

24. The concept of micro finance was launchied in which of
the following countsies initlally?

&Bangladesh 2India
4) Israe S5) Sri Lanka

3) Egypt

25. Which of the following is NOT an instinstional credit

agency?

1) Cooperative Society oneylender

3) Commerveial Banks Regions| Rural Banks
5) Governmens Agencles

26. The National Bank for Agrlculiure and Rural
Development (NABARD) ges sorve amount of its fiinds
from which of the followingorganizations for its various

schemes?

)A).Wntld Bank (B)BankofAmerica —4CNDA
1) OulyA 2)OnlyB 3)OnlyC
4)AllA,B&C Only A & C both

21. The National’ Bank for Agriculturc and Rural
Development (NABARD) was established in the year
IS0 _ZM982  I)I9TT  4)1980 51975
28. Which of the following smtements is‘are TRUE about
the activivics of the NABARD?
NABARD has the responsibility t0 inspect RRBs
and Cooperative Banks.
1‘QJ»NABARD maintains Research end Development

Pund to promoie research In agricultwre and rural
development,

(C} NABARD is a wing of the Planning Commission of

- India

1)Only A 2)OnlyB DBothA&B

4)OnlyC S)AlA,B&C

29. The Union Budget for 1995.96 proposed the creation of
RIDF in NABARD, witha coipus of Rs 2000 cr. What is
the full form of RIDF 7
1) Rural India Decoration Forum
2) Rescarchand Industrial Development Forum

Rural infrastructurc Development Fund

4) Research and Industiial Development Fund
5) None of these

30. Which ofthe fol lowing statements about thc NABARD
is'arc TRUE?

SA2 NABARD has a dual role to play os it is an apex
y and a refinance institution.

LNABARD scrvices as a refitance institinion for all
kinds of production and investment credit to
agricultye and cottage and village industries.

(C) NABARD accepis short-tenn deposits from the
public likcany othey bank to iroprove its capital base,
1)Oniy A 2)OnlyB 3)OnlyC
SDOlyA&B  S)ANAB&C

31, The head oftice of the National Bank for Agriculture &

Rural Development (NABARD) is located in

1) New Delhi 2) Hydecrabad umbai
4) Lucknow 5) None of these

32. India’s first transgenic crop was
1) Sugateane 2) Brinjal t Cotton
4) Paiato 5) Nonac of these



33. India and some other countrics raised shong objection
on a major issue in the mectings of the Wozld Trade
Organizstion (WTO). What was the issue?

1) Use of genctically modified crops
?hoviding subsidy to agro-peoducts
3) Methiod of deeiding cost of crude oil by OPEC
members
4) Use of hydrogen es aliernative fuel in futuse
S) None of these

34. Who amongst the followiog is the winnee of the Ramon

Magsaysay Award 2008?

Prakash & Mandokini Anite
DrAmattya Sen 3) Ms Barkhs Dug
4) Dr MS Ahluwalia 5) Nonc of'these

38. Which of the following isthe organization, which is the
apex body in cooperative sector and dcals in
procuiement. distributlon. export andimport of sclected

aguicuhurst conumodities?
_INAFED 2)NABARD  3)SIDBI
4)EXIMBank  5)Nonc of these

36. Mahesh Bhupathi andSania Mirza won their first Grand
Stam Title together when they defeated their opponents

in the
1) Wonbledon _AAustralian Open
3) Davis Cup Final 4)US Open

S) Wightmat Cup Fina!
37. Which of the following states in India iy at the top in
the list of those who availed eredit through Self Help

Groups (SHGs)?
1)Andhia Pradesh  2) Gou 3) Arunachal Pradesh
4) \Vesz Bengal crala

38. Whichof the following is the amount Gost oflndia has
sanctioncd o provide reliefto farmers so that they may
come out of their debt?
1)Rs10,000ct  2)Rs20, 000 cr
4) Rs 40,000 cr one of these

39. Which of the following is/ate the goals of the Bharat
Nimuan? .

To being additionat one crore hoctare under a3sured

3)Rs30.000cr

inigation
(B) Toprovide cooked food 1o about 12 crore children
in their schoolitself
A48T Toconstsuct 60 lakh additiona] houses for the rusnl
poaor.
1)OnlyA 2)Only B 3)OnlyC
AYBothA&C S)BolhA&B

40 As we all know, flood is a major natusal calamity in
India. \Which of the following smatemenm it‘are tue
about the various aspects of flood and flood manage-.
meotin India?

)) QOut of a tota! geopaphical area of 329 million

hectare, about 40 million hectare is prone to flood.
’?} Till 2007, akout 18 million hectare was provided
: 7th

with protcction against Boods by way ot'constiuction
of embankinents. drainage chsnnels and raising of
platformes.

(O) Since the insta!lation of a fload forecasting sysiem in
2004, no major flood has taken place in India.

1)OnlyA 2)OntyB 3)OnlyC
th A & B only S)Only B& CBoh
41. Which of the following is an casy way of providing eredit
to the farmercommunity?
fbyxisan Credi} Card 2)Indirs Vikas Patiy
3) Natioaal Saving Ceitificates
4) Loan against gold $) None of these

42 India recently test-fired a new surface.1o-surface missile
called
1) Mcghavama  2) Columbus
4) Pawan ‘?mwm
43. The Summit of'L.eaders of the G-26 was organised in
November 2008 in
1) Pwis 2) Tokyo
4) London $) Milan
44, Who wmnongst the following is the author of the book
Between the Assassinations?
1)DanlelleSteel 2) Anita Dessi 2 AravindAdiga
4) Nandan Nilckani 5) Asundhoti Roy
45 Who amongst the followingis the wianer of the Jawahatlat
Netwu Award for lntematioaal Undersmnding for the yeor
19957 (Tlse Award was given in November 2008.)

3) Antariksha

}Washington nC

1) Albert Bayona 2) Mailika Sarabhai
3) Dr Romila Thepar 4) DrMohamened El Baradsi
Hosni Mubarak

. Which film got the Golden Peacock Award in the 39th
International Film Fessval ofIndia held in December 20087

1) Good Night 2) Akasa Kusum
53) The Song of the Sparzow _4&3Juipan
5) None of these

47. Who amongst the following is the Union minister foc home
affatrs a1 present?
1) Sharad Pawar 2) L.alu Prasad Ysdsv Chidambaram
4) Shivra) Patil 5} None of these

48, Shivraj Singh Chauhan isthe new Chief Ministerof which
of the following sstes, where eclections were held in
Decamber 20087
1) Uttar Pradesh  2) Mizram 3) Delhi

adhya Pradesh $)Nonc of these
. MC Marykom, who won a gold meda) for India in an

international sports evenl. is basically a
1) Tsble Tennis player )Bou
3) Badminton player 4) Marsthon unner
S)Golfer

50. John Key, whose name was In the nows |s the Prime
Minister of
1) Awstralia
4) France

2) United Kingdom
S1New Zealand

3) Caeada



Test-11: English

ST, Overnight changes in sociat sctiings are nok desitable
because they will

Directions (Q. 51-57): Read the following passage
cerefully and answer the questions given below it. Certain
phrases in the passage havebeen printed in bold to help you
locate them while answering some of the questions.

AcyDae wiso forms his own opindons and belie (s will feel that
be owes no respoasibility to the raajosity for bis conchisions. If
be isagenuine [over of truth, if ke & inspired by a passion for
seeinB tbings as they are and a detestation of holding idcas
which do not eonform to facts, he will be wholly mdependentof
the acquiesce of those araund him. Wlien he proceeds to apply
bis belicfs in the practical conduet of life, the position is
diffezenz. There ars then good reasons why his attitude should
be lessrigid. Thesociety in which he is placed san ancient and
composite growih. The people from whomhe dissents have not
come by their opinions and institutions by a proccss of mere
hapharand. These opinions and customs all had their originina
cerisint 1eal or supposcd fitmess. They havea certain depth of
rootinthe lives o faproportionofthe existing generation. Their
fitness for satisfyiog nceds may have misplaced, and their
coogruity with oneandther may have come to an end. Thatis
only one sidc of the uth. The most passionale propagandist
cannot penetrate to thein.

In cominon language we speak of a gencration as
something posscssed of a kind of exact unily, with all its pars
and members homogeneous. Yei plainly itis not this. It isa
whole, but a whole in a state of coosiant fiux, i factors and
elements arc ctemally shifting 1t is'not one, but many
generatioas. Each of the seven ages of man is neighhour to
all therest. The colwnn ofthe veterans i$ already sinking into
the last abyss, while the column of the newest secruits is
fonming. To its tradition, the tendency aod its possibilities,
only a proportioo of each can bave nerve coough to grasp
the baaner of a new truth and endurance to bear it along
rugged and unwodden ways.

‘Then we must remember the substance of which life is
made. We must consider what nn overwhelming
preponderance of the most peisistent encrgies and most
concenated interesis of a socicty must be absorbed between
roaterial cares and the solitude ofthe affections. It is obviousty
unreascnable to lose patience arnd querrel with one's time
because itis tardy in throwing off its instititions and betiefs,
and slow to achieve the transformation which is the problem
fn froe of it. Men and worten have to live. The task for most
ofus is kard etiough to make us well pleased with cvien such
anperfect shelter 3s we find in daily use and customs. To
insitonawhole community being made at one? to submitto
the supremacy of new prectices and kieas thai have justbegun
to acclaim tbemselves to the most advanced speculative
inteNigense ofthe time. This, cveo if it were apossible proccss,
would do much to make lifc impracticable and %o huny on
socidl dissolution,

The Information Provided here iz Only for reference.

1) retasd thepeogress  2) fead to sociat dismiegration
3) give vitaliry to social life
4) make & socicty tov narrow: 10 survive
5) None of these .
£ The hard task, according to the author. is to
(A) cbange the society
(B)eama living
{C) change according to times
1) OnlyAandC  2)OnlyBandC 3)OnlyAand B
4)Only A $)OnlyC
$3. The problem, which is discussed in the passage, reficets
1) the realist attitude of the sutbor
2) the pessimistic views expressed by a group of people
3) s doctrine that explalns the role of cutture
4) making good usc of a genuine lover of tiuth
5) None of these
54, Which oftbce following bess desctibes the plirase "apply
his beliefs in the practical conduct of life” asused in the
passage?
1) Yo indoctrinate what he believes
2) To denounce what he believes
3) Topreach what is practiced
4) T~ practice what is preached
5) Noneof these
55. According to the author, a generation, which is
heterogencous, should be perceived as
1) sum total of the parts of the sub-system
2) a whole, whicb isnot a total of the pars
3)a fragmented group of people
4) individus] interlinkages connccted through syncegy
S)None of these

6. According to the passage, which of the following is true?

1) Impatience of intellectuals with peactical problems is
tbe sourec of progress.

2) Day-to-day concems dominate the life of most people.

3) Inteltechals ate the Icadess of s0<ial transfonnation.

4) Social change will be slow in theabsence of effective
leaders.

S) None of theso

According to the passage, from which of the (ollowing

do the customs and traditions originate?

1) Ignorance of evenis happening arouod

2) Leadership prevailing io the contemporary sacicty

3) Social utility of the socictatl set-up

4} Cooflicts of individuals living in society

5) None of these

Directioas (Q. $8-62): In each ofthe followiag qucstions,

an idiomatic expressionand its four possibic meanings are

given. Find out the correct meaning of idiomatic expressbon

and mark the numbcr of that meaning as your answer in the

answcrsheets. If you donot find any <orrect Raswer, mark $),

le *None of these’, as your snswer.

It May Vary the Original.

3



61.

T

. vy dovn
1) squandering away 2) amounts t0
3)incutring 4) taking ‘chance 0 meet
5) Nose of these

. staad over
1) vindieste 2) postpone 3) enduring
4) support 5) None of these

- knackedup
1) get exhausted 2) die in an accident
3) wandered about 4) sold at an auction
5) Nonc of these
make over
1) prove 2) decipher 3)dlscover
4) give in charity 5) None of these

. workon
1) solve 2) infinence 3) excite

4) apply force to  5) None of these
Dlrections (Q.63-7S): Read each seatenceto findout

whetber thereis any grammatical error in I The error, if
any, willbein one partof the sentence. The number of that
part is (heanswer. I there Is no ercor the answer &s 5).
(Iguore errorsof punctuation, If any.)

.

63.

Setling pesnuts /on the road i / the only means of
1) 2) 3
caming / in respect of mos! of the people./ Noerror
4 s)
Her 131k was / judged by many / as onie of the most
1) 2) 3)
imgor@aot talks / given in the seminar./ No arror
4) 5)

. The boy wbo was guilty with / having stolen tbe cell
| 2)

phoue /came out / with the quth, / No ervor
3) q) 5

. She is the teachcn'whom 1 kmow/has helped my sonin

1) 2) 3)
the examination. No error
) 5)
Yoa cannot demand/ all yoar articles / unless youdo ot
)] 2) 3)
fgive advance notce/ No error
4) 5)

., We insisted, but neither / Jona nor hes assiswnt / are

1) 2)
ready to / work on Sunday./ No eryor
3) 4) 5)
There is just not enough / time in my unit {0 sit round /
1) 2)
tatking about how we feel/ about each other. / No etror
3) 4) b))

. The actwill be passed / with a com fostable majority if all

1) 2)
/the peztisans of / her group favours it./ No error
3) 4) 3)

Moo

7L

7.

Hardly had { / entered the airport / than | met/ my cousin
1) 2) 3 q)
Tilak-/ Noerror
5)

. An aati-terroeism cell is opcned/ by the town police /

1)) 2)

three months ago /a3 a precautionary measure No efrof

3) 9) S

. The mtist who was giving / detailed description of / the
1 2

)
sculptores was / speaking fluently French. / No error
3) 4) 5)

. Martin would attempt / to open the umbrelfa / when her

5] 2)
spectacles stipped oft'/ and fell down. No esrar

3) 4) 5)
Ifyou had not/reached so quickly, /we might wellhave

1) 2) 3)
had a disaster. No error
4) b))

Dlrections (Q. 76-8S): Which of the phrases 1), 2), 3)

and 4)givea below each sentence should replace the phrase
printed in bold type to make the sentence grammatically
correet? If the sentence is correct as it i3, mark S), le ‘No
correction required’, as the uiswer.

76. She bad credted problems even wien she was on taining

while she was still waiting 10 12ke fil| charge of her Guties.
1) she has been waiting  2) she had beer still

3) she would have still 4) she has still to wait

5) No cotrection required

. The director insisted on his orders being carried out with

the letter.
1) forthe letter  2) totheletter  3) by the letter
4) into the letter  $) No correction required

. Headmired the speed with which Koti completed the woik

and appreciating the method adopted by bim.
1) appreciate the method being adopled

2) appreciated the method adopted

3) appreciate tbe method of adoption

4) apprecinte the adopting method

5) No correctioa required

. Unless | get soine break, I should not be able to do any

more wirk.

1) shall not be able

3) shall not be unadble

$) Na correction roquired

2) should be unable
4) shou!d not be unable

. Some people have ahabit of weasing their heart on their

sleeves.

1) bearing their heart on their sleeves.
2) wearing heart on their sleeves.

3) wearing their heast on sleeves.

4) bearingtbeirheart on their sleeve,
5) No correction required.

i |



81. Your pleathal you were tharough igaorsnt ofthe conse-

quences can not be accepted.

1) had thoreugh ignorance

2) were thoroughly ignorance

3) had thoeoughly ignorant

4) were thosoughly ignorant

5) Nocorvection required
&. 1tadmer him after the pecty where he had beea given an

inspiring speech,

1) when he had

2) where be would have

3) in which he was given

4) where he had

$) No cormrection required
83. Because of scientific progress, we expect to live better

thznour parents have.

1) should expect to live better thao our parcat

2) expect to live as good as our parents live

3) cxpect to live better than our parents did

4) cxpected to live better than our paients

5) No cowrection required
84. Icanoot put up witk that nasty fellow.

. putup 2) putat

3) put on with 4) putup in

5) Nocorrection required
85. 1t is useless to run away from cvery danger; risks must

00t be taken.,

1) no rishe must be

2) any nsk must be

J) althiough risks must be

4) some risks must be

5) No correction needed

Directisns (Q. 86-90): In cach question befow, a sentence
with four words printed {n bold type Is given. These are
numbered as 1), 2), 3) and 4). Onc of these four words may be
cither wrongly spelt or inappropriate in the context ofthe
scntence. Find out the word that Is wrongly spelt or
inappropriate, ifany. Thic number of thatword fs youraaswez
1fal the four words are correcity speitand aboappropriate
in the context ofthe sentence. mark §), ke ‘All correet’ as
your answer.
36 After severel rounds of discussions the Maoager

1) 2)
accented toour proposal. Allcorrect
3) 4) S)
87. The indafatigable z2al and feaslessness with which the
n 2)
youth worked rejoiced me beyond measure. All correct
J) 4) )
88. Hesliped away in the nightand rezched theze in the
1) 2) 3
marning. All correci
4) 3)

89. Heletthe Saugher wash away the tension and then held
1) 2) 3) 4)
up berhand. Ali corvect

5
90. Theauthor also advocated freshvegetable and (ruits as
1) 2 3)
naturel dict of aged peoples. All correct
4) 5)

Directions: (Q. §1-100): in the (ollowing passage therc
are Wrnks, cach of which has been numbered. ‘I iese aumbers
are printed below the passage and against each, ive words
are suggested, one of which Gits theblankappropriately, Find
outtheappropriate word in each casc.

1t is a pjty that we do not have good books oo iosurance
written by [ndian authors 91 to thesteady growth of literature
on the subject in other countrles, especially the USA, whose
Insurance faws and 92 ere very much similar tothase of our
country. And students studying in our colieges and the millions
of insurance employecs appearing for various insurance
examinations have to depend 93 on books writter by (oreign
authors. As these books mainly deal with the problems of
insurance industiy of foreign countrics, the 29 of the
trureriee scene in Indin and the various legal 93 and insurance
procedures remeins vety weak. To 36 the nsurance ctnployees
and tne college stederus who have opted for 27 courses in
insurance with differcnt aspects of theory and practice of
insurance, we should hav-egood and 98 textdooks. The book ;
under review written by VMR Nair himself, an expericoced
and 29 expett on inswance law based on leuding Indian cases,
will be found very useful by students of insurancce sector as
a 100 guide to the principles of insurance,

91. 1) paving 2) cosvesponding J) following
4) emphasize 5) correcting

2. 1) process 2) product 3) notes
4) currency 5) procedures

93. l)slightly 2) upon 3)still
4)at $) until

9. 1)prove 2) search 3) applicatioo
4) understanding §) acknowledge

95. 1)law 2) mpects 3) exports
4) books 5) loop

96. 1)equip 2)am 3) decorzle
4) proraote 5) load

97. 1)optional 2) expensive 3) tough
4) decp ) specialized

93. 1) authentlc 2) vofuminous  3) many
4) promipt $) shining

9. 1) consutting  2) qualified 3)rich
4) merchant §) ired

100. 1) kearied 2) powerlul 3) ready

4) comprehensive $) presaided
1 1 1



101. 3f7 = (256 x 67)~804

1195112 2)250047 3)226981
4)274005 5) Noaoc of these

102.0.3+2+3.33+33 4303 +333 =7
1)37566 2)345.99 3)375.93
4)35556 5) None of these

103. (73425- 33267-22418-17650) % 411025 =~ ?
1)10165 2)9785 3)8370
4)9450 5) Noac of thesc

105.-76 x 33+ 221 =7
1)-22607 2)-19304 3)2287
4)19304 5) None of these

105, (34.12F - y7396 =?
1)1080.1744 2)1078.1474 3)1078 1744
4)1080.1474 5) None of these

Dircctions (Q. 106-110): What should come In place of
thequeslion mark(?)in the following number series ?
106. IS 2 % 130 ?

1)S00 2)520 3)490 4)480  S) None of these
107, 186 9 8 3 2

1)135 2)148 3)125 4)i4  5)Nont of these
108. 124 12 176 420 1488 7

1) 8568 2)7190 3)5712
4)6150 5) None of these

109.384 381 n 5 21 7
123 2)25 3)43
4)24 5) None of t hese

110.282 286 30 ? 502

1)366 2)318 3)326 4)338 5) None of these
Dlrections (Q. 111-215): Study the following table
carcfully and saswer the questions given below.
Annal Jocome of Various Individuals over the Years
(locome in Lac Rupees)

Individuals

Dl N T R O

2002 | 5.50 | 3.20 | 480 | 635 | 6.15 | 3.50

2003 | 565 | 325 | 485 | 6.55 | 6.25 | 3.65

2004 5.7 13725] 495 17.155]16.425 | 3.25
2008 | 620 | 425 | 5.10 | 235 | 7.15 | 40

2006 ) 6.50 | 4.50 | 520 | 7.90 | 725 | 4.25
2007 | 675 | 5.0 | 525 | 7.48 | 7.285 | 4.80

2008 | 70 | 535

530 | 80 | 730 | 5.10

111, What is the approximateaverage monthly income of A
aver the years?
1)Rs44,762 2)Rs48.348
4)Rs 51,245 5)Rs42.102
112. Whatis theratio of the anma) income of B tothat of C in
the year 20057
1)6:5 2)6:7
4)7:6 5) None of theze
113. What i sthedifference between the t otal annual income
ofalltheindividuals in thecyear 2003 and the tota) nanual
income of all the individuals in the ycar2007?
1)Rs7.36.500  2)Rs6.45400  3)Rs636,500
4)Rs743300  5)None ofthese
114. The ennua) income of E in the year 2004 is approximatety
what per cent of ihe aversge annual income ¢amed by E
oves the years?

3)Rs 53,216

3)5:6

1)98 2)8 J)e8
4)94 5)91

115. What is t heaverage anaurl income of F over the years?
1)Rs4.16,000 2)Rs4,25000
3)Rs4,01,500 4)Rs4,15,500

S) None ofthese
116. Asha’s monthty income is 60% of Decpak's monthly
income and 120% of Maya's monthlyincome. What is
Maya's montHy income if Deepak’s montthlyincome is
Rs78,000?
1)Rs 39.000 2)Rs42,000 3)Rs 36,000
4) Carmot be det ermined 5) None of these
H7. The sun of 5 numbers is 924, The average of the first
two pumbers is 201.5 and the average of the lastiwo
numbers is 196. What is thct hird number?
D133 2)19 NIz
5) Nonc of these

4) Cannot be determined
@ !n how many difierent wa){.cgu the letzers of the word

*FINANCE' bewranged 7

1)5040 2)2040

4)4080 5) Noae of these
119. The profiteamed after selling a wiist watchfor Rs 4,080

is the same as tlie loss incusted after selling the <ame

wrist watch for Rs 3,650. What is the cost price of the

wrist wmch?

1)Rs 3,785 2)Rs 3,800

4)Rs 3,865 5) None of these
120. ifthenumeratorof a fraction i3 Incivased by 240% and

the denominat orofthe Gaction is decceasedby 50%, the

resultant fractionis 2 %

3)2510

3)Rs3,775

What is the ori ginal fraction?

win

i
Ny 2 or

4
4=

m 5) None of these



Directlons (Q. 121-128): Study the following graph
carclully and asswer the questions below it.
Number of studcnts (mates & feranles) passed out
from various colleges in a yesr

(Number In thousands)
40
i 3s
$85
s é 20
-]
X3
E S0+
5
04— |
A B (of o] E
Colleges
121, What is the uverage number of students (Males &
Females) passed out from all the eolleges togethes ?
1)38000 2)48000 3)42000
4)51000 5) None of these

122. The nunber of Females passed out from college C is
approximately what pet cent of the total number of
Females passcd out from all the colleges tagetiier?
1)28 2)30 3)36
4)25 5)40

{28, What is the difference between the total number of
students passing out from college A and the total numbor
of studeats passing out from college E?

1)20,500 2)21.000 3)10.500
4)10,000 5) None of these

124. What is the ratio of the wtal number of Malcs to the
total nurber of Females passed out from all the colleges
together?

1)19:23 2)18:25
4)25:18 S) None ofthese

125. The nuinber of Males passing out from colleges A and B
togaher {5 what per cent of the number of Females
passing out from colleges C and D together ?
1)4s  2)40  3)35 4)50  S5)Nonc of these
Directions (Q. 126-130): What approximate value

should come n pace of the qucstion mark (7} In lhe foBowing

questions ? (You are not expected $o calenlate the exact value.,)

126. 7428 +346x% 12=7

3)23:19

1)256 2)251 3)258 4)247 5)266
127. 15.2%0f 725 x 12.8% of 643 =7
1)9110 2)9088 3)9100 4)9H96 5) N2
128 (36.1472 - (21.28)2~?
1)888 2)853 3)846  4)871 5)865
129. Y769 x /478 =2
1)150 2)180 3) 190 4)200 5)19%6
*130.496 0.6 x0:5=?
1)413 2)595 3)148  4)1653  5)398
2
131. 40%0!‘60%0{% ofanumber is S04. Whst is 25%0!"5-
of that numbec?
1)130 29178 3)360
4)350 5) Nono of these

132. The difference between a two-digit-number and the
numbecobrained by interchangiog the two digits of the
number is 9. What is the difference between the two
digits of the number?

)3 2)2 31
4) Cannot he determined $) Nane of these

133. Inaclassthercare 32 boys and 28 girls. Theaverage age of
the boys in he cinss is 14ycarsand the average age ofthe
girlsinthe class is 13 years. What isthe average age of the
wholc class? (Rounded off to twodigits after decimat)
1)13.50 2)13.53 3) 251
4138 5) None of these

134. Inatest consisting of 80 queslions curyingone mark cach,
Arpita answers 65% of 1he first 40 questions correctly.
What per cent of the other 40 questions docs she need to
answer carrectly to score 75% on the entire test?

1)60 2)80 375
4)40 S) None of these

135, Manisha invests an amount of Rs 39,300 fos 4 years at
the rate of 4 pcpa. What amount of approximate
compound intceest will she obisin at the end of 4 years?
1)Rs 6,675 2)Rs 6,650 3)Rs6.288
4)Rs6336 $)R$6.450
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Directlotis (Q. 236-)40): Study the following table
earefulty and answer the questions given below (t.
Price per kilogram ({o Rs) at which § different farmers

sell 6 differcat products
Producks N TATIOCTS - =
P \"J LY S T
Rke | 20 135 20.5 b2} 22
[ Wheat 13 10 135 RER] 20

Jowar | 165 18 18 20 15

Baira ts 14 | 145, 135 12

Mate 13 14 125 12 14.5
Sugaree| 10 | 8 NS 15 8 |

136. Wlat is the differcnce between the average price of per
kg of Maize sold by all the farmers and the average price
of per kg of Sugarcane sold by all the fannets?

1)Rs3 2)Rsd.S 3)Rsd.2 4)Rs3.6 5) Noacof these

137. What is the ratio of tbe total price (per kg) of all the
products sold by Q 1o that sold by R?

1)41:43 2)43:48 3)43:46
4)41:48 S)None of these

138. I farmies Qsells 14 kg of Wheat, 21 kg of Jowar and 30
kgsof Sugarcane. whst will be his to1al eaming?
1)Rs 699 2)Rs779 3)Rs650
4)Rs 786 S) None of these

139. If farmer P sells 50 kgs. of Rice and fanner S sells 60 kg of
Wheat, wha isthe difference in amount by cither ofthe
farme:s in sclling their products?
1)Rs 70 2)Rs65
4) Rs 85 5) None of these

140. Ifeach farmer sells 100 kgof Jowar and 50 kg of Bajra,
which farner will carn the most?
1P 2)R 3)s 4)Q )T
Directions (Q. 141-145): Study tbe followlng graph

carcfully nnd answer the questions given below it

Numberof Stadents studying In Various Colleges from
Various Faculties (Nnmber in thousunds)
Arts EScleace B Commerce

3)Rs 80

7 g
g3 -~ e
g 60
3 0 -
s YiE
.5 30
E % %
2 1075

0

H 1 J K
Cotleges

14]. What isthe difference between thetotal number of students
studying in college H and thst studying in college K?
1)16100 2) 15800 3) 16300
4) 16700 5) None of these

0l NEREIE 00

P

142. What is the total number of students stidying in all the
colleges together?
1) 520900 2)520700
4) 510800 5) Noae ofthese
143. What is the ratio of the students from the facuity of
Science from colleges H and [ together 0 the students
from the same faculty from colleges J and X together?
1)43:45 2)41:43 3)45:43
4)43:4) 5) None of these
144, 'The nunber of students from the faculty o [ Science from
college 1 is epproximately what per cent of the wosal
number of ssudents studying in that college?
1)34 2)3? )Y 43 $)39
145. What is the average number of students fiom the faculty
of Commerce fromall the colleges together?
1)36825 2)3865S 3)3s005
4)36585 5) None of these
146. 12 children can complete a piece of wevk in 21 days,
Approxinately, bow many childeeo will be required to
complete the same piece of work in | S days?
1)24 2)14 322 417 5)20
147, Mangesh spends 17% of his monthly income on
travelling. He spends 25% of his monthly income on
household expenses and 36% of his monthly income on
medical expenses. He has remaining amountof Rs 10,032
as cash with biim. What is Mangesh®s anmnl income?
1)Rs5,50,300  2)RsS5,36,500  3)RsS.47,200
4) Cannot be detarmined S) None ofthese
148, The product of two conecutive cven numbers is 3248,
Which is the larger number?
1)58 2)62 3)56 4)60  S)Nonc of these
149, The aversge merks of 65 studenis in a class was
calculated as 150. It was later rcalised that the marks of
one of the students was caleulated as 142, whereas his
actual marks was 152, What is the actual average marks
of the group of 65 students? (Rounded off ro two digits
after decimal)
1)151.25 2)15015
4)150.19 5) Nonc ofthese
150. Th:c smi of five consecutive odd nuwnbess is 575. What
is the sum of the next set of the consecutive odd
aumbers?
1)615 635
4) Cannot be determined

3)610200

J)is1.10

3)595
5) Nooe of these

Test-IV: Reasoning

151. In accrtain code DESPAIR is wrinen as YFEQSIB. How
is NUMERAL writien in thatcode?
1)OVNFMBS  2)NVOFSEN
4)NVOFMBS  5) None of these

152, I€it is possible to make only one meaningful word with

the first, second, sixth and tenth letters of the ward

DISCLAIMER, which of the following wilt be the third

i1 i i i ;

3)NVOMFBS



NOte :

letter from the IcA? 1fno such word can he made, glve
*X" as your answer and if more than one such word can
be made, give 'Y*as the answer.
i DR 3)D HX 5)Y
155. How many such digits are there inthe number 27561493
each of which is as far away from the beginning of the
numbes as when the digits are arranged in descending
order within the nvanber?
1)Nooc 2)One  3)Twa 4) Thace 5) More than three
154. If“yellow* iscalled 'red’, 'rod” iscslied 'blue’, ‘blue' is catled
*white’, “whise” is called *black’, *black’ is called ‘green”,
and ‘green’ is called 'viokt', whatisthe colour of clesr sky?
1)Green 2) Vioket 3) Yellow d)Red  5) None of these
155. 1t was 9.35am in Rakhi’swatcb, which kept cosrec! tire,
when Reena informed her that the last bus left the bus
stop at 9.25 am. Reena’s watch is 5 minutes fast. The
frequeocy of the bus is every 20 minutes. For how long
must Rakh] wait to catch the ncxt bus?
1) S minutes 2) 10 mimutes 3) 1S minutes
4) 25 minutes $) None of these
156, Which of the following thould comte next in the given
sequeace of numbets?
243243124312243123243123
1)2 2)3 34 4)5 5)Noncof these
157. How many meaningful English wot ds can be formed with
the letters EDOM, using each letter only once in cach
word?
1)None 2)One  3)Two 4) Three 5) More than three
158. Four of the following five arc alike in a certaip way end
so form a group. Which is the onc that does not belong
to that group?
1) Nephew 2) Cousin
4) Bother 5) Sister
$59. How many pakssofieticrs arcthere io the word SECURITY
cach ofwhich hasas many alphabets betweenthem asthere
are inthe English alphabetical serics?
1)Noae 2)Two  3) Twee 4) Four S) More thzo fous
180. Ina carain code STAR is written as 5$%2 and TORE is
written 2 $32@. How is OATS written in that code?
1)3%5$ 2)34SS 3)38w5
$)35%S 5) None of these
Birections (Q. 161-168): In cach of the questions below
are given four statements followed by four conclusions
exmmhorad LIL land TV, You havetotake the glven siaements
%0 be yoe even ifthey seem to be atvariaoce with commonly
kacwe (acts. React all theconclusions and then dectde which
of the given concluslons logically follows from the givn
statements daregarding commonly kiiown facta
16i. Satements: Some doctors are lawyers.
All teachers are lawyers.
Sonmie engincers are lawyers.
All engineers are busincssmen.
Conclusicus: 1. Some teachers are doctots.
il Some businessmen are lawyers.

3) Mother

IV, Some lawyers asc teachers.
1)None follows 2) Only 11 folinws 3) Only 111 follows
4)Only li ond 1V follow $) Nore of these
162. Smtements: All plastics are glasses.
Some sponges are glasses.
All sponges arc clothes.
All clothes are liquids.
Conclusfons: L. All liquids are sponges.
IL Some plastics are clothes.
I AU glasses are plastics.
IV. All liquids are clothes.
1) Noae follows 2) Only cithes 11 or IV follows
3) Only IV follows 4) Onfy 111 and 1V follow
) None of these
163, Statements: All sends arc beaches.
, All shores are beaches.
Some beaches are mees.
All trees are hotels.
Conclusions: . Some shores are hotels.
I All beacbes are shores.
NI Some beaches are hotels.
IV Somc sands nre trees.
1) None follows 2) Only 11 follows
3) Ontycithes lor 111 follows 4) Only 1V follows
5) Nooc of these
164. Statemenss: All pasTots arc pigeons.
Some crows are pigeons.
Some sparrows are crows.
All spyrows are koels.
Concluslons: 1. Somekoels are crows.
IL  Somw parvots are ciows.
HBL Sooxc sparrows are pigeons.
IV. Nocrow is a parrot.
1) Only! follows 2) Only Iit follows
3)Only [ and cither [l o IV follow
4)Only eitherl or 11l follows
165. Statements:  All chairs are tables.
All tahles aic eushions.
Some cushions are trolleys.
Allwrollcys arc lamps.
Conclusions: 1.  Some lamps are tables.
IL Sometrolleys are chairs.
ML Some cushions are tamps.
IV. All chairs are cushions,
1) Only I follows 2) Only {1l and 1V follow
3) Only ecithes 1 or Ll follows  4) All follow
$) None of these
Dircctions (Q. 166-170): Study the following information
carefully and answer the glven questlons:
A,B,C,D,E.F.Gand H arc cight friends sitting around
acircular table facing the centre. A sits second to the left of
D, wbo is third to the teft of E, C sits third to the right of G.
who is not an immediste neighbour of E, 1 sits third to the
right of B, who sits second to the right of G.

5) None of these



ly B 2)OnlyCandA J)Only G
4)OnlyE 5)OnlvGand E
162, Whe sits second to the right of E?
1)B HE 3G 4)C  5SNooeof these
168, What i3 the pasiton of A with respect to H?
1) Third to the left 2) Tturd tothe right
J) Secoad 10 the left $¥Sccond 10 the right
5) Fourth o the left
169. Four of the following five are alike based upon their
seating arrangements and so form a group. Which i3 the
aoe that does aot belong to that group?
HCH 2)RG DA HBE 5)GB
§70. Which of the following pairs has the second person
sitting to th e immediaze left of the firss person?
1)DB 2)EH 3)FA 4)GD 5¥None of these
Directions (Q. 171-175): These questions nre based on
the follow[ng ketter/nomber/symbolarrangement. Study it
carcfulty and snswer tbe questions.
8#B2OCEKT%S5AISGD94UXC6H@I3
171 How may such numbers are there in the above
agrangement each of whicb isi mmedtately prece ded by a
coasonent and ako followed by a symbol?
f)None 2)One  3)Two 4) Throe 5) More than three
172 Which of the following sisould replace the question mark
in the lollowing scries based on theabove arrangemetu?
2EK, %Al, G9%4, ?
§) wotl 2)UC6
1) »x6@ 5) None of these
173. Which of the following is the fifili to the left of the seven-
teenth from the Ieft ead of the amungement?
s 2)G 3)A 4)D  5)None of these
174. 11 all the numbers are deleted from {he above amrangement,
which of the following will be the twelfth from the right
end?
D% 2)K w 4)C 5)Noneof these
175. How many such symbols are there in the above
arrangement each of which is immediately preceded by a

3)*CH

number and also Inwmediately followed by a letter?
1)None 2)One  3)Two 4) Three 5) More tban three
Directions (176-180): Read the following information
carcfully and answer tbe questions, which fallow :
‘P+ Q' means ‘Pissonof Q"
‘P x Q' means ‘P is sister of Q’,
*P + Q" means ‘ Pisbrotherof Q .
‘P- Q' means ‘P is mother of Q'.
176. How is T rclatedto S in the expression 'T x R+ V + §*7?

1) Sister 2) Mother 3) Aunt
4) Uncke $) None of these

177. Howis T rclatedto S in the expression ‘T x R+V -5'?
1) Father 2) Sister 3) Daughter
4) Aunx $)Nooe of these

178. How is S relatedto T in the expresSion ‘T4 R -V + $°?
1)Uncle 2) Nephew 3) Son
4) Cannot be detennined 5) None of these

179. Which of the following means that* S istlie husband of T?
NDTxR~V+S 2)T-R+VxS 3)T-R+VeS§
4)T+RxV+S 5)None of these

80 How is Vrelatedto T in the expression ‘T + R+ V x §'?
1) Aunt 2) Nepliew 3) Nicce
4) Uncke " 5) None of these
Direciiony (Q. 181.185): Each of the questlons below

coaslsts of a question and two stetements numbered [ and 11

are givea below it You have to decide whetber thc data

provided lo the statements are sufflcient to answer the
question. Read both thestatementsand

Give answer 1) if the data in Statement | alone ace
sufficient to answer the question, while
the data in Statement 11 alone are not
sufficlent to answer the question.

Give answer 2) if the data in Statement 1| alone are
sufficient to answer the question, while
the data in St21ement [ 3lone are not
sufficient to answer the question.

Give answer 3) if the data in Statement ) alone or in
Statement 11 alone are sufficient to answer
the question.

Give answer 4) if the data in bozh the Swtements L and {1
cven together are notsufficient to answer
the question.

Give angwer 5) if the data in both the Statemeats [and 11
togaher age necessary 10 answer the
question.

181. HowisArelaied to B ?

L Ais the sister-In.faw of C, who is the daughter-in-

law of B, wbo is the wifc of D.

@ B is the mother of A's son's only uncle’s son.

182, Amongst A, B, C, D, Eand F, cach arc havinga different
beigbt. Who is the shortea?

L Cis shorter than only B.

I Aistalier thanoniy D and F.

183. Point X s in which dircction with respeet to Y?

L Paint Z $ at cqual distance from both point X and



Mote :

point Y,
IL Waiking 5 km to the Eastof paint X 3nd taking two
coosecutive right tums altcr walking S kans before
each turn leads to point Y.
184, How is “must' writteo in a code Janguage?

L “you mwustsec' is written 2s ‘la pe 0i* and ‘did you

sce' is written as "jo ni pa® in that code Isnguage.

It ‘vou did tha!’ is written as ‘pa si jo’ in that code

language,
185. On which day of the week docs Anti’s birthday fail?

L Soou correctly remembers that Anti's binhday falls

afier Wednesday but before Sunday.

0. Raj comectly remembers that Arti‘s birthday Gils

before Friday but after Tucsday.

Directions (Q. 186-190): 8¢low In each question are
gtven Iwo statements land I, These statements may be either
independent causes or may be effects of independent causes
or a common cause. Oae of these statemcats mny be the
effectol theother statement. Read both thestatements and
decide which of the followlng answer choices correctly
depicts the relationship betweca these two stalements.

Mark antwer |) if statement ] is the cause and statemend

Hisits cffect.
Madk answer 2) if satement I1 is the cause and spatement
I s its effoct

Motk answer 3) if both the statements | and 1l re

independent causes.

Merk answer ) if both the statements 1 and Hlare effects

of independent causes.

Mark snswer §) if both the statements 1 and Il are efTects

ofsome comman care
186.L  Computer education has been made sompulsery for
all the classes by many’ seboois

0. The qurent job marker prefers cmdputer-litcrate
workforce.

The standard of education in evening colleges of
the State has been deteriorating.

L The standard of school edocation has been fast
deteriorating in the State.

Alldomestic ait lines increased the fares nall sectors
withiaumediuteeffect.

1L Railways increascd the fare of all iw classes with
immediate effect.

The prioes of fruits and vegetables felt subszantiatly
over the last few days.

I The quality of fruits and vegetables improved
considerably over the last few days.

Recent floods in the area changed the nutritionsl
contents of the soil.

IL Fammcrsinithe areaswitched overto cultivating rice

instead of wheat.

Directions (Q. 191-195): In thefollowing questions,
the symbols #, S, %, * and @ arc used with the following
meaaing as lllustrated below :

‘A # B’ means “A is not greater than B,

*A $ B’ means *A is ncither smaller nor equal to B,

‘A % B’ means * A is neither smaller nos greater than B,

‘A * B’ means ‘A is ncither greater thanivos equal to B'.

“A @ B’ means *A is not smaller thao B,

Now in cxch of the following questions, ascuming the
given siatements to be true, find which of the two conclusions
12and 1] given beJow them is‘are deftaitely trae and give your
angwers accordingly.

Mark answer 1) if only conchision 1 is true.

Mark answer 2) if only conclusion 1 is true.

Matk answer 3) if either conclusion | o¢ Il istrue.

Mark answer d) if neither conclusion I nor 11 is true.

Mark answer $) if both conclusions { and 1] arc true.

19). Statements: A#B. B%C, CxD
Conclusions: I.C@A ILASD

192. Statements: P$Q, Q@S, S%R
Coonclusions: I.P@R 1L.RSQ

193. Statcments: W x X, X#Y, YSZ

Conclasions: . W% Z nw@z
194.Statemeats: G@H., HS$J, JI%K

Coaclusions: . K * G I.J*xG
195. Statemeats: N@M, MSP, PH#T

Conclusions: LT#N ILPAN

Directbons (Q. 196-200): Study the following Information
carefully and answer the gfven quessions.

A,B.C.D.E, Fand G arc seven friends studyingseven
diffezem branches of engineering, asmely Mechanieal,
Chemical, Electrical, Electronics, Civil, Computer and
Acrosautical Engincering, oot necessarily in this onder. Each
of them studtes in three different colleges, X, Y and Z. Not
less than two study in any college. D studics Electrical
engineering in College X. The one who studics Chemical
Engincering does not study in college Z. F studies
Acronautical Enginecring in college Y with only B. A docs
oot study in colicge X and docs notstudy Civil Engisicering.
E studies Computer Enginecring and does not study in
colkege X. G studics Elecuronies Engimeering butnot @ college
X. None incollege X studies Mechasicalor Civil Ergim~ring
196. Which of the following groups sepzesents the persans

studying in cotlege Z?

1)D.B 2)C.E.G J)A.G
4)GEA $)Noncof these

192. [o which ofthe following colleges does C study?
1)X )Y 3Z

3) EitherX v Z  $)Cannot bedetermined
198. Whielt of the tollowing combisations i correct’?
1)A-Civit-Z 2) BCliemical-Y
3)C- Chemical-Z 4 G-Electronics~Y
$) None of these
199. B studi¢s which of the following bianches of cngineeting?
1) Chernical 2)Mechanical  3)Civil
4) Cannat be detesmined 5) Nonc of these
200. Who studics Chemical engineesing?
1)B 2)C J)E
HA 5) None of these



Answers

L1 24 32 4S5S4
Sl A SN T2 10. 2
o3 o2 s sl

16. 2; As pet tecend gepoat 2008. shout K%
of all wutkSorce in India is cngaged in infor-
mal or uBonAdIscd sector.

1. 4

18. 3. Small Scale Indusiries conlribute
pearly 40% sbaza Is 1 tota) (ndusuiad ous.
put and 35% tharc in sote) expocts of Indsa.

192 01 2.3 221 238
4.1 .2 265 27.2 183
2.3 3.4 N3 N3 B2
3 M IrE 2 NS 38.5
39,4 0.4 411 43 43D
4.3 455 d6.4 4.3 &4

M. 2 50, §

S1. 2; The Jast tentence txlks of “sociad dis-
sclution®.

$2, 4, Hefoce meationing “the tmk for most
of us is hard caough®, 1h¢ suthor talks abous
how 1 10<icty i3 slow in ils transforma.
tion. °

S3. 1} The svthos catloes us Bow Our acal
foe transfonnarion should ot bfind us o
the realitica that exist

54. 4. "Bedicf1” aro whot one preachis. To
“2001y® them is (0 practise them

£5. 3; The paaage says: *Itis act oae, but
many genceations. Each of the scvea npes
of mag it aeighbour 3o all the rest.”

46. 2; Rod e socood satavec of the third

paa

§7. 3; The ecthor RYT that these originaied
*ia a conain re2l of 1upposed tilness® and
then redales (he fitness 10 “satis{ying noed®,
S8, S: I acctbing rung Sovem, it sy PO,
59. 5. It means o sepervise or walch
chosely'.

€0, 3. If somecking is Anscked wp, it is pre-
parcd Quicdly aid withoul sny special case.
61. % 1f you mate something over to some.
dody. Y09 uanst its owncrihip to there,
2. 2; Example: His chaomo doent wark onme
63. 5

€4, 3; Substitute ames for dotka

65 1; Substitste of.

66. 2, Substitute wha

67. 3; Odce do Aot

68. 3: Substitaae &

69. 4. Substitsle ome another,

0. 4; Substicole fovour.

71. 3; Substitux when.

72, 1; Sudstituse s

93. 4; Substitore fueat,

4. |; Sobstitute was atiempimg.

778

7.3 27..2 18, 24 #2991 ) 8o. s
8. 4 8.4 8] 845 85. 4
86. . There arc two wrong usagey' In (1)
the word scweral B misspell. end in (3) as-
seniod thouh B¢ the spproprinte word,

87. |; imdglatigable 88. 1; slipged
89. 1; taughler 9. 4: nstual

TS 9T M4 92
9.5 9.1 9.2 1004
3
75667
——=| 250047
m.z.( ] ]
102. 5; Sam = 345.96
103. 4 104. 1 108.3

106. §; The series is

x1 #10, x2-10, »3+10, x4-10, =5+10
130 % 4. 10 = 520 - 10 = 510

107. 1: The series i +2 +]

EOIUI‘J,S

. 4; The senics is

+622302+36=338
. 1. Tolal income of A = 43.3 lakli

43
=12

Mdathly tncoaic of A = «R1 51547

Q5 5

uy 3 SIO-;-S 6
11Y. 3; (36.565 . 30.2) Iskhs
« B 6,36,500

6428

G425 L 100x7 wSe%
amsio &

Tota! eacome
No of years
114. 3: Maya's masthly incamse

114. 4.

.9 as

1y s; =4.15 bikh

=R$.3500

be

119. 4,

120, 3; Let the fraction be vy
Then

I fy =17 =X 3

Sied=h y 12

1S9 210
02 .3.Awu=-—5?'-—-7-‘2

a.Sx100
I‘Z .2 ReqU % Ile
7

o 21002 30%
23

125.5, 375 - 175 = 20
s
ns o

328
|4 ==x100=50%
124. ¢; e

19.1. 777

7428
" )46
121. 8
128. 2,37 42 » 14.86
b-bln(n.b)(--b)]
afTulde 4o 14+ 8 <57 «85)
124. 4; §69 <9
5 .22

12§. 3, x12a 258

Tk 22 v 198 »200

moce




1224 10c 1 y-10y-%xe ¢

o¥Hx.y)=9

Sx-y=)

2x14+28<13 3020
0 &0

134, §; Required percentags is

65

0-40x o 1ae < i00=85%

10 2

Note: tise zlligation. Simce tatio is 1 :
75% should be betwoad 65% and the reqd
Ans = $5%

133. 2:

1351
6-48 18
: ——me—aRs 1S
136. 4; 3 3
137. 5

138,216 914 + 2 x15=-30=8
w22 «315+ 240~ 779
139, 1. 1000 - 930 = Rs 70
140. 3: By vicwing the dats given
141, 4: The difference (s
2124 1L5- 16 - 167
16.7 = 1000 =» [6.700
142.2
9 _43
3.3 %50

a2 l’—;nmr%"--mx.am

148, §; #a 100~ 38623

12221 84
146, & -15_"5-"“"’

147, 5: Remainkng > 100 (17 + 25 + I6)
-N2%

Given, 22% = 10032

100% = '—%lxlwgm 45500

148. 1. Let 0o puriiber de .
Then the other numbes is x + 2,
Also,

ax + 2 « 3248

%.

= x? +2x-124820
=(x-56)(x+58)=0
x = .38 not Elven in optian
Henoe x = $6
Bigges ootnber ks x + 2 = S8
Note: Check thzough given chokxs.
149, 2. To1al muske calmisicd = 63 x 150
Acma] wesd = 65 2 150 4 10
= 9750 + 10 = 97560

2
Actal averge = T2 =12 c1sas
150, 5. S coasecutive odé numders nre X. X
42.5+44,x+6,x+3
Atso,
X*X+2tXx-drX+6+x+8=378
25+ - $75

o x-m-ll!

Next set of consecative odd numbers are
X+ 10, x+12 . x+I8

Sum = 3$x + 70

a5 x1l+70 = 62§

£52. S; The desured letters are D, |, A ead R.
The uords that can be foroed of these let-
1cr1 are ARID and RAID.

193. 2;
‘e number 2 3614913
13 descendit@ oedes: 9 635 43 |

2
154. 5. The cplour of the sky is bloes. Bui_

2

‘bo¢ |5 called “white*.

18S. ¥; The last but left st 9.25 a.m. by
Reen's walch

s Rie® o (925 ~ 005 <) 920 am. correct
time

= Notbas will imve 22(9.20 +4020-)9.402m.
. Rakhl must wasl for {(9.40 - 9.35 =) §
minutes

186. 3: 24372431 £24312/243123
2431234

157, 4, DEMO. DOME 2n$ MODE

158. 2; Ia all others, the sex can be detes-
mined

199.3; S EC U E_I_J‘ Y
wr  HT RS

L OATSm3Ix3S

161, 4; All teachees are laswyers (A) -» con-
version —» Some lawyers are 1eachees (1).
Hence 1V follows. Now. Some doctors ere
lawyxrs ¢ Some lawyers are leachor = [ v [ =
No conclusion. Hence | does not follow, Same
cngineces arc lawyees (1) = cooversion —+
Soms Lawyers are enpneess + All cogincens
are Basicesmm « | 4 A = | = Some Isuyers
are buseessinen -+ GNvession —» Some buai-
messinen asc lawyers, Heoce R {ollows. Bus,
All teachess 2re lawyees ¢ Somo [awyers xe
bribnessinen » A + | w No cancintioa. Hente
11l do¢s not follow

162, 1 All sponges mre clothes + Al clothes are
Iiquids @ A + A=Al Ponges ane liguidi —» coo-
version —» Same liqusds are spoages (1), Henoe
t does not folow. All plasiics are plasses +con-
version 0fSome sponges areglases = A + | = No
cooclusion. Heace )i does not (dilow.

All plastics are glasses (A) «» CoBversica -
Sorue @x>o are plastics (1). Henee I does
0ot folkow. AR ciothes are tiqulds (A) - eon- |
version —» Some liquids are ¢sohes (1), Hence
1V dees oot {oflow

16). 5. Sormoc deaches are wrees = All teet
er¢ hoteds =~ | + A = | = Some beacdes are
liotels. 1{ence 111 follows. Now, All shoscs
are deaches + Some braches are hotels = A +




él te

1 = No contlusion. 1{¢cce § docs noc fallow
All shores ase Beoehes (A) ~» conveesion -
Some beabes are shoees (). Hence I does
aot foltow. All sands are beaches + Some
beachcs ane trees = A » | ® No conelusion
Henwe IV does not follow

164. 3, Some spAITAVS are CrOWs + SOmME erova
we pifeans = § v [ = No conclusian lence
[l does not follow. Somc crows are pypoons
n- 1091 <> Soeme pi e ewas
(0. Now. All pasiots are pieedns + Some pi-
Re0&s &¢ <rowy = A ¢ | = No conclusson
Hence (1 does not follow. Nov docs 1V follow.
Howerer., ¢onvession of Il forms an 1.E
complementary pam wilth [V. Hennse albes I
o¢ 1V foliows. Soox sparrows are crows (1)
—» conYeysion —» SOmME <rowl arc SPINNOWS +
All spaccows are kockt = [ + A = | = Some
crows ace kols —» coaversicn — Some hocly
are ctows (1) Henee |

165. 2. Soaw cashlony are wrolleys + All trol-
leys are lamps = | ¢ A = | = Soxk caushions ere
larngd. Heace (11 fhllows. ASl chairs mre Labks
+ Al tablet aro cushicso = A v A= A= All
chairy are cushions. Hence |V follows. All
tables are cusbions ¢+ Somc cushinas asc lamps
® A+ | ® No conclusioa. Hesce 1 does not
fodlove All eheirs gre cushéons -+ Sooe exsh-
ions afc troticys ® A + 1 = No conclasion.
Hence [I 6o not follow

166-170;
c
€ B
H D
F G
A
166, 1 167.2 168, 4

169, 3; In all otbers, tbe sccond person (s
#e0nd (0 the right of the fiegg

170. 5 170. 3. 2 and 7

172, 1; The correspoading clement maves
five piaces forward ta the subscquent groaip
171. 5. 51h 10 tho el of 17th ftom the Seft
" (17 . %*) 120 Oom e kit @ |

174, 2; If all the numbers nee deleted. the
arraagement becomes
*BOEKRASGLUR CH@!

175.4, 5. 0and S

176. 5.

TEr—-R(#)=—V(.)
Heoe T i the daughier of S
177. 2;

V()

Tly=—R{+) §
178, &

T(+)—R(-)

V(¢)—S
S is cither the nepbew or msece of T.
V(+)—S

174, 3,
n-Tw(ox-:—s
)
m

() —R{-)

@) .
S isnzphew or neecc of T. Absard sclavonship.
T(I=>S(4)

R{+)—V(#)
0)
S s husbend of T
We neod not g0 further
180. (;

RH—V()—S

)

tHeoec V 18 the auntol( T

181.%. From I: Ais a female.

Usimg thlylm [l, we get:

B = motikr of A's sun's caly unclc’s 100

= mother of A's a00’s cousion

= mother 0f A's brothes.sn.law't wife

182, 4; Staiemeat | glves us the [waisllest
persons Hence it is ot sufliciens, s
From 13, erther D o¢ F 56 the 1honest. Heace Il
is al50 oot sulficient

t83. 2; Statemant | 15 ofn ouse docanse wedon't
kmaw Lhe Jirectéions.

Statzment [ is safficsent because distances and
directions h3ve boco giveo propaly

184.1; Statemens {:

yourmustsee = la pa m (0)

did you see w jo al pa (i)

From (1) and (1i). YOu scc @ pa m

Using (111) 4 (i). we et owt® la

Heace © alons s sufficient

Bust L (9 ¢ot cven semolcly conncelcd with
‘must’

145.3; From [+ Anl's blsaddsy falls oo Thu. Fii
or Sa

From 11 It falls on Sst, Sun 02 Moa

Combining [and [, 1 falls on SatL

186, 2, Job market is an impottant sonsidel-
ation {6 deictmining the cavkadum of SAGNS
187. 5, There scems 1o de 30me ComenOn Caase
thot s leading 1o deser{omtion tn both kinds of
educatioo

188, 5; Hike 1n foe) prices 1cams 10 bethe com
moe Coust

189. 4; The two ef feets are uarslaled

190. 1, The fasmers' dccision I3 sppsrently an
cffect of Shange in the soit

191.1:AsSB (i). B~C.. (li)), C< D _ (i}
Combining tbese, we getAsB=C<D.
Henoe C 2 A a0d [ fodlows.

Neat. A < D aed heace [ {A $ D) docs not fol.
low.

192.4P>Q i Q2S . (iiik:S=R . (lii)
Combiniog these, wegaP>Q2S»R

lgece P> R and | (P 2 R) 603 not follow
Al R £Q 3nd Il (R > Q) doss 0ot foilow
193.3,. W<X (@MXsY . (H),Y>Z.. (i)
Combmg these, we gt W X <Y > Z Henoe W
and Z can't be compared Bul cither ((W <2)
or [T (W 2 Z) must follow as they form a
complicmcnlary parr

1M.5.02H . (i H> ). (ii) 2= K _.(iii)
Combining these, we gei G H> 1=K

Henee K< G aad § follows

Alsc. J < G and It follows.

195.2;N2M (ixM>P (i).*sT (i)
From (1) and (LA NS M>PorN>P  (lv)
tHeace P < N and L follows

Froea (i) and (iv), However, T and N caaY be
comnpared

Hence [ does pot follow

196-200:
Feieml Cullege Bnoch

A 2 Macinncal

B Y Cead

(S X Chenteal

D X Ehonuat

[ 7 Comexace

P Y Aceagial

G Z Bocrorics
196.4  197.1 S4.5 199.3 200.2




